Spring 2, Week 5
Maths Homework – Area & Perimeter Answers
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1)

a) area = 77cm?
perimeter = 36cm

b) arca = 60cm®
perimeter = 34cm

¢) arca = 86cm?
perimeter = 50cm

3)

a) area = &hem?
perimeter = 42cm

b) area = 165cm?
perimeter = 58cm

2)
a)

Tem
4em
perimeter = 22cm

area = 28cm?

b) Scm.

3em

perimeter = 16cm
area = 15cm?
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1) 15 full squares
6 half squares
total arca = 18cm2

2)

a) Triangle A has an area of 8cm®.
Triangle B has an arca of 9cm?.
Triangle C has an arca of 12.5cm?.

BC

3) The arca of triangle A is approximately 12cm?.
The area of triangle B is approximately 18cm?.

For triangle C, accept approximations of 11cm? or 12em?.
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